

$$y' - \frac{3y}{x} = x \left(\text{😊} \right)$$

$$RON = ROZ + RSN$$

<http://www.mbmaster.pl>

ROZ.

$$y' - \frac{3y}{x} = 0$$

$$\frac{dy}{dx} - \frac{3y}{x} = 0$$

$$\frac{dy}{y} = \frac{3y}{x}$$

$$\int \frac{dy}{y} = \int 3 \cdot \frac{dx}{x}$$

$$\ln|y| + C_a = 3 \cdot \ln|x| + C_b$$

$$\ln|y| = 3 \cdot \ln|x| + (C_b - C_a)$$

$$\ln|y| = 3 \cdot \ln|x| + C_c$$

$$|y| = 3 \cdot e^{3 \ln|x| + C_c}$$

$$|y| = e^{3 \ln|x|} \cdot 3 \cdot e^{C_c}$$

$$|y| = C_1 \cdot e^{3 \ln|x|}$$

$$y = \pm C_1 \cdot e^{3 \ln|x|}$$

$$y = C \cdot e^{3 \ln|x|} \rightarrow ROZ$$

Uzmiemowie stacj

$$y = C(x) \cdot X^3$$

$$y' = C'(x) \cdot X^3 + (C(x) \cdot 3 \cdot X^2)$$

Podstawienie do (😊)

$$C'(x) \cdot X^3 + 3 \cdot (C(x) \cdot X^2) - \frac{3 \cdot C(x) \cdot X^3}{X} = X$$

$$C'(x) \cdot X^3 + 3 \cdot C(x) \cdot X^2 - 3 \cdot C(x) \cdot X^2 = X$$

$$C'(x) \cdot X^3 = X \quad | : X^3$$

$$C'(x) = \frac{X}{X^3} = X \cdot X^{-3} = X^{-2} = \frac{1}{X^2}$$

$$C(x) = \int \frac{1}{X^2} \cdot dx$$

$$C(x) = \int X^{-2} \cdot dx = (-1) \cdot X^{-1} + C$$

$$C(x) = -\frac{1}{X} + C \rightarrow C(x) = -\frac{1}{X}$$

$$y = C \cdot X^3 + \left(-\frac{1}{X} + C\right) \cdot X^3$$

$$y = C \cdot X^3 - X^2$$

$$RON = ROZ + RSN$$

$$y = C \cdot X^3 - X^2$$